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Third Predicted Paper 4 May / June 2025

1(a) A student used an apparatus ~ to investigate the effect of temperature on the
rate of photosynthesis of the leaves of Chinese plantain, Plantago asiatica, at two different
concentrations of carbon dioxide, A and B.

Fig. 2.2 shows the results of the investigation.
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Fig. 2.2

(i) State one environmental factor that should have been kept constant in this investigation.



(ii) Describe the effect of temperature on the rate of photosynthesis when carbon dioxide
concentration A was supplied.

Use the data from Fig. 2.2 in your answer.

Rate.of. photosynihesis. increases.
fxom.. 10° 10 3dc. and. sFays.......
conslank. above 30%6.........Y ...
Ak._30¢. _+he ralke is. .22 ... . .
.a,.m.al_../x.z...mf..;mr.su ........................................................

(iii) Calculate the percentage increase in the rate of photosynthesis at 30 °C when the carbon
dioxide concentration was increased from A to B as shown in Fig. 2.2.

Show your working and give your answer to the nearest whole number.
Final -Inikal 30-22 x (oo

Initia) *e = 36°36
B "

[2]

(iv) Explain the effect of increasing temperature on the rate of photosynthesis for carbon
dioxide concentration B.

Use the term limiting factor in your answer.

comﬁ""‘- .......................................................................................... [3]
- Pho l‘osgn}'bcsis /s enzyme.

cgtaj%.{ml reachong.




(v) The student concluded that carbon dioxide concentration is the factor limiting the rate of
photosynthesis between 30°C and 35 °C for the results shown for A in Fig. 2.2.

State the evidence for this conclusion.

The. .. 3 raph... of. B _has_higher.. .

valte' with _amoxe.. L0, Loncen:.
xR HON..ThAN.. Ao, 1]

[Total: 10]




2 (a) Tissue plasminogen activators (TPAs) are human proteins that are used as drugs to break
down blood clots.

TPAs break down blood clots by activating plasminogen. Plasminogen is a protein that is
always present in the blood.

When activated, plasminogen forms a protease that breaks down fibrin molecules.
(i) Plasminogen is found in the plasma.
State what is meant by the term plasma.
Il‘qul‘d ....... GYI’ ....... o ; ....... b100d ........................... 1]
(ii) State the pro.ducts of the action.of protease on the protein fibrin.
BN, . GCLAS. ... (]
TPAs can be produced by genetically-engineered bacteria.

Fig. 5.1 shows some of the stages involved in genetically engineering a bacterium to make a TPA.
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Fig. 5.1



(b) (i)

(i)

(iif)

(iv)

State the name of structure A in Fig. 5.1.
Lol

PIQS”')I .............................................................................................. 1]
In the flow chart, X represents the action of an enzyme on a molecule of DNA.
State the name of this enzyme.

. 0
7C$,'rlohaﬂenzgm6 .............................. [1]
The TPA gene is inserted into structure A.

Explain how the gene is inserted into structure A to form structure B as shown in Fig. 5.1.

Cutting human. ne.and.plasmuol
Aronm? _came. rlstrichon enziyme
Ho.. produce.. complementary. .
Shakycnds ....................................................................................
Vse. DNA.. l.i?.g‘..ﬁ......h ...... 0in. the...

...s.hfc.&z.......mds ......... of..plas.mid. and.
DU . GENGC ... 3]

Before TPA was made by genetically-engineered bacteria it was only available from
blood donated by people.

Suggest one advantage of producing TPA by genetically-engineered bacteria.

No.... all.wg.i..o........r.e..a..cl.-z.'an.s ......................................

(v) Discuss the disadvantages of producing genetically modified crops.

- Seeols. aye very exbengsive.............

- Reoluced. ..

-’

enlhe variaton. Yo....
adapt.. io.. changing. environment.
Resiskank. qenes.. to ibsec)s or herhs.
.mi.ab.k ...... c mlt.& ...... supcr...m.c.c.ds, .................................




» Ethical. concerns. for.. c.h..qng..z'.n. .........
_..3.e.n.e,s ........ of. 0YQA IS e

[Total: 12]

3(a) Aplant, Arabidopsis thaliana, was placed on its side in the dark. Fig. 2.2 is a series of drawings
made of the plant, over seven days, as it responded to a change in its surroundings.

Fig. 2.2

(i) State the stimulus to which the plant responded.
[

N 2 XA R 1]

(ii) Name the growth response shown by the plant.



(iii) Explain the advantage to plants of the growth response shown in Fig. 2.2.

......G'I.ztaw...-m.._..n.l.-'.......p.l.a.n..l:.....lowa.td..c.......
___li.g..b).'.?.....a,n_d_______m_a.r.e,.____dz'_fﬁuu'.an. ________
ofco‘, ........ Rr.m a.r.e.....pb.ato.t#n..:.
K < Y XA X S
PTOMOI‘“ ........ 3 rou.‘)Ham‘/)Ian/'. 2]

(b) Auxins control the growth responses of seedlings.

Explain how auxins control the growth response of A. thaliana, shown in Fig. 2.2.

> . Aunin.ispreduced. at.shool fip.
> TF. difbuses. below. under.. ...
ePEeck. of. gravilky. and...

[Total: 9]



4 Tasmania is an island off the south coast of Australia. Sheep were introduced to Tasmania in the
nineteenth century.

Fig. 3.1 shows the population of sheep in Tasmania from 1820 to 1940. The dashed line shows
the trend in the population growth.
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Fig. 3.1

(a) Describe the trend in the population of sheep in Tasmania between 1820 and 1940, using the
information in Fig. 3.1.

- Number_ of 8heep. increases..
exhbonential 1) 1860
- Tk . xemeins. lconstank. from....
1860 . 40..19%0. .. wikh...
Pluchuations.. ok is....oo..
ShHonary.. DQECnoee
> In.behotin.. 1950-1860. 1F......
..Pe.a...&...c ........... 2.25 milliens................



(b) Explain the change in the trend of the population that you described in 3(a).

> From... 1920 10.19.50. there. Qre.. ..
meore. birth_+han deaths. as. . .
-+ moye. food is _available. and........
..lc.u.......p.r.c..d.a..ln.m ...................................................................................
= From. 1950 _fo 1930 JopPulation. .
i..constank. as.. births. and. deaths

Qre.. . equal ............................................................................................... [3]

(c) The sheep that were first introduced to Tasmania were not well adapted to the environment.

Describe how farmers can use selective breeding to improve their sheep so that they are
better adapted to the environment.

2+ Paymerx...chooses. animals. with..
Aeslred. LERMATE. ..o
- ..C.mu.b..n.g..d.it).?.......ﬂ)..e;..m.......ég......a.b..l.:ain ......
...aﬁﬁspxin ......................................................................................................
> Seleck tht . af-ﬁrfannj ....... with. ...
desived. Ffeature. .. .Y i
- ...R&pe.q,l:.......i.l:._...M.....m.a.n#.....g.c.m..xahfgns.



(d) Maintaining very large populations of farm animals is unsustainable.

Define the term sustainable resource..

- A.resource. which is. produced
..xa.’p;d.l.(? ........ as. 1k 1S removed.......

(e) The introduction of sheep on the island reduced the number of tortoise drastically. Discuss the

ways in which the number of tortoise can be restored.

. Keaping.  thers.. in....[;xnkmkgd...qrcw

= ...Us..i.n? ........... C .a.p.h‘xe.. ...... breeding........

Programme.......i
= Implembng. law. for. hunhng.

= Monitering. hely. number......
re?“lﬂ»)’l#g .............................................................................................. [4]

(f) Give two similarities and two differences between Atrtificial insemination (Al) and

In- vitro fertilisation (IVF).

Lommon... P 1237+ Y o W
Both include. collechron OFf.. . ..

...spgxm .....................................................................................................................
.[50..ih..._....i.n.c..l.u.d.a.......im/::.).gnta..Iz‘.a.n...._..._..

B Y a2 =7 A S



Dz#eycnca-InIVFBa%c?}
and._sherm._are. collecked
ouksiole.. Ferklizahon. is...... -

exkernal Qnd Zﬁﬂ_ﬂ_uma'”s]

produced oulsicle boaléé




5 The kidney is one of the main excretory organs of the body.

(a) Explain role of liver in excretion.

Liver... hreaRs olowdn.. LXCESsS.........
amino.acids..as. . there. Nirrogen
park.  is. removed. and. used....

Jo.ormy.. LXeQ.......o.o.. S
6Y€akd»0u)n ....... Oﬁ ..... Ia(/h‘c ...... QL0 [3]

(b) One of the roles of the kidney is to filter the blood.

Fig. 1.1 shows a section of a kidney.




(b) Table 1.1 shows the concentrations of four solutes:

in the blood in the renal artery
in the fluid in the kidney tubule
in the urine.

Table 1.1
solute concentration/gdm™3
solute blood in the fluid in the ,
renal artery kidney tubule urine
glucose 0.9 0.9 0.0
protein 83.0 0.0 0.0
salts 8.0 8.0 16.5
urea 0.2 0.2 20.0

Explain the difference in the concentration of constituents between the blood, fluid in the

kidney tubule and urine.

= Ll )ered. as.. ”“7 ........ are. oo b/;
to. ofbhube . 5O

~ .....Gz.l.u...m.t..&........i..c.........na,b..v..a.fb.g..a[......b?, ............

~ ALHve transpork using. &nerﬂ(,

- from._ . caxrier... prokteins....
Some. . solls are. veahsSoxrbed.
- Excess. salk, waker and all.



_____ of urea. . are etxcreded. in.
...... I
Wrea. concentraton. inctreases
.. vrine...as.. . mosk. _waleyr... .

.Hc.n..Ic...._.b.#...,...,...a.s.m.os..z.'..s .......................................................

[6]

[Total: 9]



6 Pollution is the harm done to the environment by the release of substances from human activities.

Table 4.1 shows the names of some pollutants, their sources and their effects on the environment.

Table 4.1
pollutant source effect on environment
Fossi | m, enhanced greenhouse

carbon dioxide

Combug tion | sffect

enhanced greenhouse

Methane cattle and rice farming offect

fertilisers crop farming eutrophication

(2]

(@) Complete Table 4.1.
(b) When fertiliser is applied to fields, it can lead to eutrophication in lakes and rivers.

Describe and explain what happens in lakes when eutrophication occurs.

Ferklizexs. are vieh in......
nikralkes. and erganic.maler.
They _increate. .\ g.xow...z% ....... af. ..
algae.. in.. wateyY bodie........
I‘J}:ﬁac ......... covey.. the. walker hoal F
Oty  pl g.n.t.s. ..... are nol able Jn |
olie? oLu.e o _increased. .

c,o ...... e.h...ﬁ.o.n ...............................................................................
Dcwmposbr.s breakolown. dead...
YoRUCLYSs.. and. Lese.. k.. 0L0,.

bz ........ acrobic. reshiraltlonm.. . ...
nol.uccs.....o. ........ in. lake. and. s

cause fish mmnta.j 13 [Tota: o




7 Meningitis is a transmissible disease. One form of the disease is caused by the bacterium
Neisseria meningitidis.

(@) Define the term transmissible disease.

LR._disease.. cauwseol. . b# ..... ) m.agc..n

which...s .rc.a.d..s.........Eram............a.né .........................
hostk. to. _anotnexr....oooii.

(b) Explain why the shape of antibody is important.

-’An.h.'.ba.d#........sl:ru.c..fum ....... rS...complem -
entar fosl)q,/be, ........ ot anhaen..

- So._.adtibhody. coun.  bind. wik. ..
...spe..c.i..f-z.'c........a ¢ Xz 11 17 2 W

(i) Explain how vaccination provides active immunity. '

».eaRened. pathogen... i.s....:.’..n}.c.gtf.e..al...

- _Pathogen. has. anFagen. over....

ks sty Pace........ O i,
= Lumphotigles. recoanise. . antiaen
..a.idfp.rztucc ....... a.rZﬁ'..ba.al. . 3 ...........
.co.mplcm.&.nl.-a.r#......la.......mhgcn ....................
- Memorr ........calls.........a,rc........pxa..alu.cc..c(. .........
wbz‘ah'brawalalon?-fcrm
ALY e )

(ii) If meningitis disappears from a country, explain why the vaccine should continue to be
used in that country.

(c) The spread of meningitis can be controlled by using vaccines.

- To..develop herd. immuniky......

and.. travellexs.. brinag.. mire....
- cases. from. . other.. Ucounines..
- Some.  hotks. have nolk Sshown..

Jam}: orms.



(d) People who have meningitis are treated with injections of antibodies to give them passive
immunity.

(i) Suggest why the antibodies must be injected rather than taking them by mouth.

> Ankhoolles are /aral'e,m.c ana

can._oenalere. Oue fo HClin......
SIOMBCH....... e

ln b'DOd .............................................................................................. 2]

(ii) Explain why passive immunity does not give long-term protection against diseases, such
as meningitis.

Passive.. immuniiy... invelves...
')...In}’.e..c.ﬁn... antiboodiet. and. ...

;0. a&hnpﬁlmbo Fes..
- N.o ........ memoxy. cells. . a,ra /)‘maluceal

> Anhbodieslare. broken Olown.
alblrer. Lew.. ) N

[Total: 14]



